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Random samples of 1, 5 vehicles of manufacturer 1 (X,

(Y1.....Y5) were collected and resulted in & = 10

and - wnd = 14 with known variances 0% = 1

and o3




[image: image2.png](a) Test if the difference in lifetime of vehicles exist between the two manufacturers at a = 0.01.
Ho :py — g2 VS Hy :piy — pio at a = 0.01.
Equivalently, Hq : VS Hy @ at o = 0.01.

Test statistic is Z =

DR: If [Z] = 20905 = 2.58, conclude H,. Otherwise, conclude .
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(b) Obtain a 99 % CI for p1y — g2 and perform the same hypothesis test using the CI.

A 99 % CT ot 1y — g1z is

The CI can be used to test the hypothesis above. The result is the same given the same .

Hy gy — 12 =0 VS Hg iy — iz # 0 at a = 0.01.
A 99 % CT for 1y — iz is
DR: If 2 99 % CI for py — po includes 0. conclude Hy. Otherwise, conclude H,.

Since the CI ]




(The problems are from Inferences Based on Two Samples.)

